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Question Nos. 1 to 25 are Short Answer Type Questions.

Answer any 15 questions. Each question carries 2 marks.

15 x2=30

1. WY S quads & faam | fed)




THIN & ada & fam | faE)
Write the laws of reflection of light.

Saad au 39d gdu | afel e B

Explain the difference belween concave and convex

What is the difference between real and virtual images ?
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6. WHMW F AT F P haw i Rar 23 TR A g vy
Give two eflects of refraction of light in daily life.

7. Vs S TR TR A BR-mR A amA dm e P @ AR
qurO SN wEMm R ?

Name the dcfect of vision caused due to elongation of

the eycball. How can it be corrected ?
8. WFE 33 N I THE F vfonfs Bfw

Define the power of accommodation of the human eye.
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the cycball. How can it be corrected ?
8. WHE 3 I JgHeH hE F yonfe Afw
Define the power of accommodation of the human eye.

9. for umm & 3 g4 & M fE)

Write the names ol two sources of direct current.
10. & THERE A w sgEm wign whonfa Sy
Define a chemical reaction with an example.

11. mmwwe?mmﬁl

What is a decomposition reaction ? Give onc example,
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Write the names of two sources of direct current.

10. @& Taris FffFa %) wgew wfea whaRa Hifa
Define a chemical reaction with an example.

11. mm&mmﬁmt?@mﬁhm

What is a decomposition reaction ? Give onc example.,

12. faFmiftr (Rancidity) 70 & ? T & AF 0 7 & ?

What is rancidity ? How can it be prevented ?



13.
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7.

CODE UNAVAILABLE =

qI<6 (ihdicntor) 1 v R ? um =R AR

What is the

solutions ?P

PH wvalue of ncutral, acidic and basic

g3l =) afonia 6 3k T st dRna
Define metals and give onc cxample.

=T S 2, st AR Hrar W =g F Srenar Swar @ P
TETatyes aiteser Riaa _

What happecn

s when magnesium ribbon is burnt in air ?



Definec photosynthcsts and write its word cquation.

q-:chtﬁtﬁwﬁmtml

autotrophic nutrition
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21. W (Stomata) ¥ 1w BRI A s o @) R 2
What ia the role of guard cells in stomnatn ?
22. W= 4 =g oiwem smavew wd Qm 2
Why is double circulation necessary in humana ?
23. FAfrE w91 W olonRa B w sgem b

Define ascxual reproduction. Give one example.

24, wifTw yad v R ? @ IgE™ Al

ll!'l-ni :- stamabtemblac. o _ at® - 4




24, ENT® FAUR T R ? @ ITEQ AR
What is vegetative propagation ? Give one example.
25. T % T3 3 % 3w ffag
Write the names of reproductive parts of a flower.
21T IATiT Wy / Long Answer Type Questions

WY WA 26 ®/ 33 it Iwfin v €1 3 | 5 4 Wyt & 39w
Z1 ¥E WY & fav s % Foifta 1 4x5m=20

Question Nos. 26 to 33 are Long Answer Type questions.

Answer any 4 questions. Each question carries 5 marks.

1x5=20
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26. 39 98 M ARG @ it RfR w1 A v | wp
fm-amta dik)

Draw a clear ray diagram of the process of formation of

a real and magnified image by a convex lens.

XfEI0; 50 [ Continued
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What do you understand by farsightedness ? How is this

defect correcled ?

28. TWHlE whEm = Rk 7 Aife e @ FR-0 I
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29. ¢frw dfiea 1§ pH +1 wgw T

Write the importance of pH in daily life,

30. @ afta we = R ugd frge A gaE sk gl R
) FaEs w1 gl ¢

Explain with reasons why metals are good conductors of

clectricity and non-metals are bad conductors of

electricity.
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What is called nutrition ? Mention the vanous modes of

nutntxon found in living organisms.- ‘- - .- : S et

32. g?ﬁwqu‘a ?w%&mﬂm‘a ?
What is-an artificial kidney ? How does it runcuon 2
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- Write main examples of plant hormones and deséribe
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the effects of awvodn. TR =y g i - g g P

.
&% e . -



1. UhIT & WRIAd o AaH

(i) srmufad fehror, WRrafdd fh=or iR AN T &t
T gid gl

(ii) MU hIUT = URIAd 0T gidT B
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39 SgoT Hado <doT
(i) 39 <ot H1 (i) Hadd <doT BT
WAdB AdE dIeI dl | WIddd Ade Hiar b1
3R afsed arar 2 R afepd grar 21
(i) 31 YT BT P &F | (i)3HPT gfP &F 3dd
BT 937 81T &l ot B ToAAT A HIDHT

&Y grd1 &

(iii) 31 SYOT W aIq BT | (i) $HW I BT HATHTH]
A T ufafaa | 37k adfds S UbR
a9dr 2l Hrufafaaaaar?
(iv) g8 S4OT qre- o (iv)9% cdoT arel &
ATSS iR BT S HAT | 31U ¥ Iugind 2

(v) 31 <UUT BT BIHd
HATHD EIdT &

(v)HIdA SHOT BT
BIHH BUNHD EIdT & ?




3. arxdfds ufafa 3417 3yt ufafde S 3w

feg vvi

anxafas ufdfeaa HTaTHE ufdfaa
()IBIRT Y fbor () 3TaTE UfdfaE
URTad HYAT H9ad | UHIR0 &) fboT urad
S e Uh fdq W HYQT HIdciq & 91
fradl & AYarafas | oo fag o 7@ fireral,
gfdfag gar 8l gfes firerdl 58 arem

sl &

(i)qE IoeT &IdT Bl Gings TaTsaré
GiDTE I QR 3ARTAT | (iii)T® U< 9T F&1 3ART
dAbdr 2l ST HepdT 2l




5. Ugd-iich
fehelt ATeA H UehT=T ch! ITel 3R Haid | Heh1er <h
chl 3TJUTd &l STUdd-Iich chgalldl &

n=:



12. faaritdar (Rancidity)

dl Ud I9T gh USTYT T arf | TR TehoT giche
gl ST

JAhUTH : (i) TTeT USTAl ohl d1g%eg U= H I&HT|
(ii) gé-siieritae (S BHA, BHT) fAemr|



8.
HId =3l <hl 3Ichel QTi<h AT GHwIA LUh 98
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&THdT & AT A7 A Ul Bichd gLt i
gaIIfSId heah faf9a giat iR fa axgai
ahT AT IR T ufdfd« S91 ardT & | 98 LUih
A3 9 kY gehdT (Hicrs) § URad o ShiRoT
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ofe® 4T (Direct Current) & &l &g |id
o<l 3R R A 8| g Tq™f-ch Solf hl
Hie fog[d URT & SIgeTa 3 4RT 307 hdl
g, STafch YR dd I o Uh1 i fC¥ 4T H
giafad sl 8|



14.. FeTH w0 tfufrar fPa pea & 2
IO1- IerE BT 3tfuafeear &4 ramafae srfufsear Gy —3me

fop wx & A1y 3fafehar Bt FauT 941 A &1 FAafor Hrar 39

e IEoT fufesar &ed &
Hcl(31%T) + NaOH (&) — Nacl(=TdoT)+ H2(STe)




6. &R Shia= d sruade & yvmE
(i) gt & @1 fReenT ardfdes @ Iger fe@rs ATl
(ii) ot ¥ .R e § <&t dfie &6t fers -




10. IrafAen srfAfehar

STl Ueh T 38k gary a9 | fAetehe AT o1 aret
ger G &, dt 39 I sifAfekar ea €
RIARLL

2H2 + 02 — 2H20



11. 3rgued sifAferar

STd Yok AIfieh Teah &l AT ek TRt yerdl | e
ST 8, ot 39 e rfafehar shgd 8|

N{ALL

heat

2K ClOs3 » 2K Cl + 30,




16. uTq
d dcd St fagld 3R AT & 3= 16Tk 814 8,

ATITIG1I Td - gld 8, YT hgelld ol
EI32:13101:<‘vﬂ€T(Fe)|



%@wﬁwﬁﬁaﬁwaﬁraﬁqgﬁ
fxars <t €, AfchT X ol gy WE el g
39 IV hl ShIRUT TG & foh a%g o1 Ufdfed
feAT & WS F99dT 81 59 W oh GRMeF &
fore IR araT aret 39« @9 (convex
lens) & A IT dhi~eae Y &l TR fhar
STTT 8, ST1 Feh1eT fohRoT ant AT Uk Tat &
g chigd & H &g hedl 8 |

Xef® gy T 87

o gRYTYT: 35 gV (grzuxifrar) e Ot
oy & oo aafch o i aggasii ot

TE U Y g1 ¢4 UTdT 8, oAfch g <h
IEIU 9T fe@dt g1

o THIRUT: 3 GV H G I Hichd
T & 3Hfereh gl SIrdt 8, o axgaei
ot Ufdfse feAr & dies a=ar g, 7 foh
fear or| g 3iTE & I SR I
BIeT g dT ehl -1 eh dgd Bic HST g
ch ThIRUT 8 YehdT 8|




29, .
¢fHep Sfie & pH &1 A8 AHa @

o 9

Teh? hiY 3R UTTERUT deh thell g3 81 UG
BAR IR & 3R Y Ag-Tarafaas ferarst,

ERY ht UHTIAd hdl 8 | pH Hdel- §-1¢
I@ oh [olU GeTfag ol IUANRT U¢ chi STAdT
ohl hH 3 ok folg fohaT SiTaT 8, STafh
AT ANt STl 1 Silal TR aief o felg

gI-1eh ek gldl g



30.

YTV b Sciaei-l el IUFRAfA & HIROT
faerd <l gareTah gidl 8, STt T <hl T=-T |
IS ¥ H gH Hehd g 3R el 9RT A1
AT hed 81 39 fausia, sramgsn | 4
<k SAaE gl gid &, FIfh 37 stag
URHTILSAT & hdh d¢f gid 8, fad faga
¢IRT <hT T ol gl gTdT |



32,

$AH gh (SATE) Tah Rfhaar uferar 8
STt ARIR T faue srafre ueret o sifafk<h
dvet UeTd ohl g <h foIe SuAhT hl STt &,

SIdl UTehideh gakh dlch | hIH gl hed 8. T8

ch<ch ThiH ShidT 8, ST <eh ¢hl Udh ST -URITH

52

a¥et gery faeRor (diffusion) o ATeAH H =k
Y S &d H el S11d 8, 3R g h

SN

T T TSTRAT 8. STUiRIE Uery 3R SidiR<h

Iy IRR # Wt fear 1T 8.



